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4. The figures above show the age structures of human populations in three countnes, X, ¥ and Z.
(a) Which of the three countries has the largest rate of population growth? Which has the smallest rate? Explain.
(b) Compare the infant mortality rates that are likely in Countries X and Y. Explamn your reasoning.

(¢} Describe the changes in both the birth rate and the death rate for a country making the transition from a
preindustrial society to an industrial society.

(d) Describe one incentive that the government of a country could offer its citizens that would faver a reduction
in the growth rate of its population. Explain how this incentive would work, and descnbe one possible
drawback.
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4. The figures above show the age structures of human populations in three countries, X, ¥ and £
(a) Which of the three countries has the largest rate of population growth? Which has the smallest rate? Explam.
(b) Compare the infant mortality rates that arc likely in Countries X and Y. Explain your reasoning.

(¢) Describe the changes in both the birth rate and the death rate for a country making the transition from a
preindustrial society to an industrial society.

(d) Describe one incentive that the government of a country could offer its citizens that would favor a reduction

in the growth rate of its population. Explain how this incentive would work, and describe one possible
drawhack.

a E“j:zé':ﬂ " ¢ lacoest I"lr.ll:'..b ] L 'I:l’\‘ﬁ"l L-L':LJE-\'LLI‘HL‘L{&HL{.
™ ¢ Hr‘.g hbﬂ'.ﬁ-ﬂm ""1”1

we Tl
lfl LU% J’ o D a g !"EN’LL ‘EL‘E\&r&fL ﬂ.ﬂ'PFI.'.I”}l!.u'l"l.Lt-
L O T A PR ATV N I A

1 ln-t i W 1mrt nuu.'-.-ft ﬂﬁwg H\L D Fale ywpeld  DE

H’l ﬁﬂnjtl\ 5(1;2_ fJL lr, [al Lu‘un ru \1{ J(L L H‘s ate

o Ll ok

EETERT —r

GO ON TO THE NEXT PAGE.
-16-



ADDITIONAL PAGE FOR ANSWERING QUESTION 4

A\ 1 LA AL Lpl {n il m'mL.T*«'LI-.{- HCEW ILL'E'
J
__..131... nmmmm o)t Ppnokal cate and sty educgtion

-

id lens agi/g _mi'!«.q..{r,,i-g in ML i per CafCd *f _ 54 e
e ALk i jru e n "Illhﬁ ALY F&}N , :
‘H \ntan . ] rn‘lt;_s, arEI-LL l ir.rﬂ' TE} ComnTry 4 El"{,’
L AR HI}E {jmﬂa Lm’t 5K ii'dlliul L vh:i' hé
(ol rs jer f,r'nl.o.n . _E.nl o less | [

I : M L'Lm Li‘. Lms;hmimwsn e ,_ ABLIE" ' Tiial no-
;II,,E - 'HPL ;":iu m“ . doath rate o - ?1 |
| in ok fonags !mm so less chil dga s “Em%.
b-r [a ' m .w'i.\ ij el ;u'm.\a_isl\ I!LFLHL
1‘ 1V L el sl e e ilely aic

A W CAWSFL A WEJ_'L. 3y

i‘l;' |:' l:r Eng hr'l_L-Eh‘h’LdF‘_-i {iﬂﬂ‘ W'n'-'j j_ﬁ -I. 'l ﬂ-.!’E-‘E b 'J"!"l L 'L\E U'LFWH\ fﬂi\L

{L.m & m_u& cgh EWATA coy t |

% J{L ax Lrué_ . .[* \LE. n\h i

L L .l |

l'u'hU. Ahim I_Lﬁc&

rau’ l.RL s mﬂ..n.h{.'tlt. L

X NL)
B--‘th W FL:}L(}(', et o

GO ON TO THE NEXT PAGE.
47-



Male % Female hiale Female

i | | ;' |
1] 3 i 5 10 4 2 0 2 4 10 0 LD
Number of People Number of People Number of People
in Country X in Country ¥ in Country £
{(1n millions) {in millions) {1n mallions)

Ml Apges 0-14 ] Apes |5~44 [ Apes 45-85+

4. The figures above show the age structures of human populations in three countries, X, ¥ and Z
{a) Which of the three countries has the largest rate of population growth? Which has the smallest rate” Explain.
(b) Compare the infant mortality rates that are likely in Countries X and Y. Explain your reasoning.

{c) Describe the changes in both the birth rate and the death rate for a country making the transition from a
preindustrial society to an industrial society.

idy Deseribe one incentive that the government of a country could offer its citizens that would favor a reduction
in the growth rate of its population. Explain how this incentive would work, and describe one possible
drawback.
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